yield ratio to Zhdanov

yield ratio to Zhdanov

e Zhdanov ratio=1
e \\ ahl/Zhdanov
1.5 + —— Wabhl error marigns
—&— Katakura/Zhdanov
—aA— ALICE/Zhdanov
1.0
0.5 ~
4
>
0.0 T T T T T T T T T T
60 70 80 90 100 110 120 130 140 150 160 170 180
mass
1 -
<
0.1 -
3
0.01 ~
e Zhdanov ratio=1
e \\/ ahl/Zhdanov
—— Wabhl error marigns
—&— Katakura/Zhdanov
—A— ALICE/Zhdanov
0.001 T T T T T T T T T T T
60 70 80 90 100 110 120 130 140 150 160 170 180
mass

Benchmark B: ***Cm at 160 MeV, post neutron emission yield ratios to Zhdanov's data



